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1. The ratio of the prices of two houses was 16: 23. Two years later when the price of the first h;:-)s.increa'sed
by 10% and that of the second by Rs. 477, the ratio of the prices becomes 11: 20. Find the original prices
of the two houses. ;

<{§f "Rs. 848, Rs. 1,219. (b) Rs.838,Rs.1,119.
(c) Rs. 828, Rs. 1,219. (d) Rs.848Rs.1,229.
2. If a: b = 3: 4, the value of (2a+3b): (3a+4b) is
(a)  54:25 tb) 8:25 (c) 17:24 d] 18:25
MTP-October ‘19
- The ratio of the earnings of two persons 3:2. If each saves 1/5th of their earnings, the ratio of their
savings. :
i) 23 éb’)/ézz N (c) 45 (d) 54
4, The Third Proportional to 15 and 20 is
4’57 805 (b) 80 (c) 80/7 (d) 120
5. If x+y, y+z, z+x are in the ratio 6:7:8 and x + y + z =14 then the value of x is

(a) 6 <m/ 143 () 8 (d) 10

MTP-March ‘19

6. The ratio compounded of 2:3,9:4, 5:6 and 8: 10 is
11 (b) 15 (c) 3:8 (d)
: none of th
1 The sub-triplicate ratio of 8: 27 -
(a) 27:8 (P) 24:81 éﬂ/ 23 (d) none of these
8 lf g - [. = El :

L , the process is called

%Abtrahendo (b) Componendo (c) Alternendo (d)

L

none of these

. 1ler
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if x:y;z=2: 3:5if x+ y+2=60 then the value of z

9. d} 12
4 30 (b) 15 I8 () b
A3 io it be :
B ' ber is added to each term BEERE EEiS  DeCome § .
10.  The ratio of two numbers is 15: 19. If a certain num
9. What is the number added to each of the ratio?
din (d) 23
(a) 6 (b) 15 ("‘ﬂ
i al b c i 2a+3b+2c i
—_—e— = — St e R arssataa |
= LAt
@ 1 19 <¢/y 9 %
12, If x:y = 2: 3, then find (5x+2y): (3x-y)
(a) 138 _ 163 (c) 198 (d) 7B
13. A bag contains Y187 in the form 1 rupee, 50 paise and 10 paise coins in the ratio 3:4:5. Find the number
of each type of coins.’
((a) 102, 136,170 (b) 136,102,170 (c) 170,102,136 (d) none
14. The ratio of the speed of the two trains is 2: 5. If the distances they travel are in the ratio 5: 9, find the
ratio of times taken by them.
(a) 2:9 (b) 18:25 § 25018 (d) 10:45
MTP-March ‘21
15. TV\)IO numbers are in the ratio 7: 8 if 3 is added to each of them, their ratio becomes 8:9, the numbers are
al 1416 b) 24,27 ;
( (b) (é/)/Zl, 24 (d) 16,18
16. Which of the numbers are not in proportions?
) 6,857 (b) 7.3,14,6
é/a/ (c) 18,27,12,18 (d) 86,129
MTP-March’22
-\-—
17. If A:B=2:5, then (10A + 3B): (5A + 2B) is equal to
7 5 ' :
Y ol L. 73 () 65 B
18. The ratio compounded of 4:5 and sub-duplicate of a:9 s 8:15. Th it
en Value of "au iS
{a) 2 (b) 3 e
19. i£1/2,1/3,1/5 and 1/x are in Proportion , then the valye of X will be (d) s
(3Y 152 b
(b) . 65 (c) 108
(d) 56
2

Chapter-1 : Ratio
: and Proport; :
°n, Indje
e

20

21

S



Fourth proportional to x, 2x, (x+1) is:

20. 5
& 2x-2
(a) (x+2) (b)  (x-2) &I (2x+2) (d) (2x-2)
21. If ot is the duplicate ratio of \/2/3 then the value of x " is
(a) 2 (e/s (c) 5 il
' MTP-Oct’21
: (Ll). 4
22. If x: y = 3:5, then find R
Gi 2 &u/ 4 (c) 6 (d) 8
23. if A: B=3:5and B:C=5:4, C:D = 2:3 and D is 50% more than E, find the ratio between A and E
{a} 23 9/ 3:4 (c) 35 (d) 45
MTP-Nov’21
24. The salaries of A, B and C are of ratio 2:3:5. if the increments of 15%, 10% and 20% are done their
respective salaries, then find new salaries.
a) 23:33:60 (b) 33:23:60 (c) 23:60:33 {d} 33:60:23
25. IfA:B=5:3,B:C=6:7andC:D =14:9 then the value of A: B:C:D
(a) 20:14:12:9 (b) 20:9:12:14 (c) 20:9:14:12 <(»d7 20:12:14:9
26. The salary of P is 25% lower than that of Q and the salary of Ris 20% higher than Q, the ratio of salary of
R and P will be :
(a) 58 <cm/ 8:5 (c) 53 (d) 35
: MTP-2 Nov’22
27. The ratio of two numbers are 3 : 4. The difference of their squares is 28 .Greater number is:
a) 8 (b) 12 : (c) 24 (d) 64
28. The price of scooter and moped are in the ratio 7 : 9. The price of moped is ¥ 1600 more than that of
scooter. Then the price of moped is:
(Z/? 7200 . (b) 5600 (c) ¥ 800 (d) 700
MTP-1 Nov’22
g 2 2p+q
29. If a‘ 3 then the value of 2p-q is
1 1 .
(@) (6) - = (c) 1 éﬂ/ ;
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30. A bag conatind 25 paise, 10 paise and 5 paise are in't

of 5 paise coins is

@

48
(a) 45 (b) | i
31. What must be added to each term of the ratio 49:68. 50 t /8
@) 3 (b) 5 @

MTP-2 June’22
L AL ook bistio

32. A person has asset worth of ¥ 1,48,200. He wish to divide it a

ratio 3:2:1respectively . From this assets s
(a) 24,700 ) 49,400
imes as much as

33. X, Y, Z together starts a business, if X invests 3 ti
Z invests, then the ratio of capitals of X)Y, Z is

{a) 8:9:2 (b) 6:3:2 (c)
34. If the ratio of the roots of the equation 4x2-6x+p=0 is 1:2 then
(a) 1 ) (c) 2
Indices
— MTP-March ‘20
| 35. 1 51+ 1255 is divisible by which of the following
\ F 8. 5 \LM/G (c) 8

MTP-October ‘19

,, Ll
. 36. |2 =3 =6t then teilim=
‘ X0,

el B |
() =+=
2 X

\
N | =

ik il
Bl
Z X

MTP-March, ‘19

' xa (a*+ab+b?) xb (b2+bc+c2) a (c2+ca+a2)
|37/ Thevalueof |— e x| =
Sl X X v

‘,M’(g,)v 1 (b) 0 fe) <1

38. ifx=5" +518 5,3 154 is given by

(a) 25 L (b) 26 (c) 27

T
39. Simplify m B
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e ratio 3:2:1. The

mongst hlS Wifer

hare of his son will be :
(6)% 74,100

total value of T 40, the NUMmpe,

(d) 20
347
(d) 9

pbecomeé

son and daughter in tp,

(d) 37,050
sts and Y invests two third of why,

©

Y inve

3:6:2 6:9.:3

the value of p is:
() -1

(d) 9

(d) 0

(d)

none of these

(d) 30
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ifX =343 and Y = 3% - 314 then the value of 3(x? + y?)’ will be
(a) 12 (b) 18 (c) 46
MTP-March ‘21

n+2n-1 .
The value of W is

(a) 12 \w/m (c) 28
If 3*=5Y = 75 then
2,151 ke 2 1
(a) x+y-z=0 (b) MR s
MTP-2 Nov’22
21
n

i n

n; V3.3

Value of |9 4. -
343"

a2 (c) 81

\)‘)‘27

MTP-1 Nov’22

[

(b) (c) 3V3

L
L] 3
(d) O
}ﬂ) 64
(d) 2
2,11
=,
(d) 3
. (__3_)
(d) e




- 3t?
,/ : £
/ 46. Find the value of .
¢ §
\ 3
3 d © 2
Nt (bF o7 £
MTP-2 June’22
MIP-c i
47.  1f(25)50 = (25x), then the value of x will be: i
N it e (€} B
= 8y 5 b} 5
i‘\_ L e A 8 then the respective values of xand y are
,-)/,-"“.
(@) 6 > (b) %1 (c) % %
’ il 1l ‘
{ 49.\] Ifa*+b?>=45andab=18,the —+—is:
% § alb &
N ) wap (b) £2/3 P et
Logarithms
MTP-October ‘19
3 .
50. Iflog X + log, X = 5 then x is
g
(@) 0 fb) 1 Y. HE
(c) 7
MTP-March ‘19
51. Ifa=log,12,b= Iog36 L = Iog’48 36 then prove that 1 + abc =
Q- (b) 2ca (c) 2ba
MTP-April ‘19
52, The value of log 212 1
e i 22 (c) 9
MTP-Oct ‘20
53. The value of (log , alog blog cP=
{a) 1 b
: Wi (c) (log b c)?
6

(d)

-t
~

(d) 5

(d) None of these

(d) None of these

{dy 3

(d) 3bc

(d) 3p

55.

56.

57
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o . ”
joge x + log(1+x) = 0 is equivalent : o
& (Z? x4x+e = 0 (b) x'+x-e=0 (c) x*+x+1=0 {d) ¥+x-1
MTP-March ‘21
1 -
55.  If x2+y’=7xy, thelog 7 (x +y)is

(a) (logx + logy) (b) %(logx + logy) (c) 1/3(logx+logy) (d) 3(logx/logy)

MTP-March’22

3 na
56. Find the value of ['0810 \/fg-loglo(z )+Iog10 (4) }

(a) x (b) 10 (c) 1 (d) None
MTP-Oct’21
n n 2N
: —+log—+log—
57. Find the value of log N gzn gxn
(a) -1 (b) O {e). 1 (d) 2
MTP-2 Nov’'22
58. iogO.mlO,OOO =
(@) 2 {b} =2 (c) 4 (d) -4
MTP-1 Nov’22
g
59. log, fm *6‘, find the value of a
2 5 2
60. ’Og-&ﬂogﬂrﬂogL .
g g
(a) par et
®) oar (c) 1 {d) 0
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